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RE .22 . O . JRAY - HAS HEACKZ e HRE2
301 YErEA2 147,606 133,800 213,806
10 SHAFAHIEAIZ 12,280 10,006 12,280 2,274
SOIHAY L =0 2 HIISH2IAIL A
St
75,8002 x32+07% 03] 12,280
2 JEBAD 121,520 137,600 121,520 16,080
ZOI=TA XIS 121,520
HRIKAH X ME F=H =01 X2 231,086 232,386 1,300
201 LBr29Y| 5,880 5,880 0
01 ArR2t2lHl 5,880 5,830 5,880 0
FOIXIAEOAH BB 2T 70,0002+ 1424+63] 5,880
203 HREXY| 2,700 2,700 0
03 AlBFXREXY] 2,700 2,700 2,700 0
RRANHKIME =81 =01 L XASOIH| 2+E3) 2,700
301 LBHEA2 222 506 223,806 1,300
07 QI2r1=QI0iH| 40,000 40,000 40,000 0
AN =01 29| HIISXelAlL 28t
4,000,00084% 102 40,000
10 SHAMAHIEAZ 10,006 10,006 10,006 0




RE .22 .. O - HRAY - BAS el EL JNELT E[ImE=FT;
SIOIHSIY L =H=0l 2 HIISHIAIL A
St
75,8002 x2 U332 +23| 10,006
2 IlEEAD 173,800 172,500 173,800 1,300
=oI=TAR XIS 173,800
HSCHRIR O KIMIE] =81 =01 x| 354,172 234,172 A120,000
201 LBredy| 5,460 5,460 0
01 ArR2t2)Hl 5,460 5,460 5,460 0
ZOIXIAEOIH BIOEA 2 70,0004+ 1324+63] 5,460
203 PR=AY| 2,700 2,700 0
03 AIMERYSEXIY| 2,700 2,700 2,700 0
KO KIME =81 =01 U XA H| 23 2,700
301 YeHBAZ 346,012 226,012 A120,000
10 BHAMAHIEAIZ 20,012 20,012 20,012 0
SO L =HZ0 2 HIISHIAA A
St
75,8002 x3 L x442 523 2,012
2 JlEEAD 206, 000 326,000 206, 000 A120,000
FOI=XIAY X8 206,000
HIISH2IAA 28X X 7,057,979 9,585,376 2,507,397




22 - AM . O - HRAY - HES HEACK =N INEL Hns2

MESIH HH FX(HDISHIAZEXXAIIZ) 553,905 1,924,502 1,370,597

MESE H2H XA 553,905 1,924,502 1,370,597

201 L2 0 3,328 3,328

01 AlS22H| 3,328 0 3,328 3,328
OIS 28 722 §sSXsEY 3,328

301 Yeraaa 0 624 624

09 Sozecawaz 624 0 624 624

Hol2 22 siZael 22292 NSy

2600212 *20 2 122 624

308 KIXISHHISOIA 182,205 110,000 AT2,205

01 RXSHHZAEXZ 110,000 182,205 110,000 NT2,205
MM S SHHARY] 110,000

403 K XISHRISKH0IH 371,700 1,810,550 1,438,850

01 RXISHGEEE 1,810,550 371,700 1,810,550 1,438,850
HIIS 22 & SAIRZ AIM X7 1,810,550

HOIS 22 2 X2 Hes 243 (HIISHeAIEEXIRI012) 2,480,760 2,483,183 2,423

W22 IIBAIL &= XY 1,819,760 948,500 871,260

403 K XISHRISKH01H 1,819,760 948,500 871,260
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01 5=

2. 22 .3 . U2 - JRAIS - HES HETX| S PN Hws2

307 gIzhol& 0 42,000 42,000

® oIHASE 27,000 0 27,000 27,000
SASMADIZ0D| AF AHME 2 27,000

M DI AIS 15,000 0 15,000 15,000
HEWEE oA 22 15,000

308 X XIS S0I A 0 800,000 800,000

01 XXSHZARES 800,000 0 800,000 800,000
MEE 2 SAZ2 S AIZAIY Z=X 800,000

MY 2 Y HEE 24 22 XY 650,000 650,000 0

308 XXISHHI SO & 650,000 650,000 0

01 KRSHZAREZ 650,000 650,000 650,000 0
MaD|2tet QIMEIE HIZ 400,000
HDIS2E AXNEIL Q472 AAIL| 250,000

HOISX2IAE 24X L 24(HIISHSIALEXIRAIID) 2,809, 194 3,905,402 1,096,208

Ol XEZ2A =4 0 70,000 70,000

207 S| 0 70,000 70,000

70,000 0 70,000 70,000




XX .22 . HH . O - HIRAY - HAS FIEE L pNEL RS2
M= AKXl Complex =4 JI2HE 8=
i 70,000
AR AE AlE RX 24 2,255,607 3,363,315 1,107,708
401 AlZHIZLSOHYI 0 450,000 450,000
01 Al&H 450,000 0 450,000 450,000
o LE AZAA J|AXIC
KU KIME =5 A2AIL J|STC T 450,000
403 KX SA=01M 2,255,607 2,913,315 657,708
02 2II2SOICHETHAIIH 2,913,315 2,255,607 2,913,315 657,708
CHHRIR O A KISIE =S AIE DH 2 X 460,000
SERE ZOYBATX S0§ A 154,000
AR AN LEE P 50,000
B2 2 B2TA 65,000
SIEHPYLE)| 2HE 35,000
MPYJ| BHIE Speed Door A X 36,000
B2 AHE A 80,000
SO OHACIAT 2l2Yal 2 A 20,000
o 20,000




HECX =N

HSUAHZHUXIAE ==AIE 1

AMMIAEE Flake Lining 22

>

HAMEH UetE WXl

L

918,200
100,000
453,200
235,000
100,000

30,000
843, 176
105,000
110,000
250,000
308, 176
70,000
691,939

553,587

472,087

281,500

553,587

472,087

281,500

472,087
472,087

10,000

553,587

472,087

281,500




XX .22 M. O . HIBAIY - BHAZ HEAC K| SH PN HIw=2
EFD|, MIANEE S 24 75,000
21101 ®II&H| e S 23,500
CR)| gFo=E S Q0 70,019
SMIIFHEY DH S 53,568
SAIZ OlsHiR WA 120, 000
T2 2R 7Y 120,000
HOI2H2IAIZ OHER 22|(HDISH2IALEXIXIRIIZ) 1,214,120 1,272,289 58,169
HIISHEIAIA =8 St ASXT AL 143,520 143,520 0
201 LBr29y| 3,520 3,520 0
01 Atz 3,520 3,520 3,520 0
SASIATADA BAA ASEZAL ASBD2
55, 000 21+4 CH8em 1,760
KO KIME SHAHSEA 202
55,000 24 Ehx8om 1,760
401 Al&HIZ20HYI 140,000 140,000 0
01 Al&H| 140,000 140,000 140,000 0
SASIATIRA DY =P BIAA ASFXTAL 140,000
ORI L RRANHKIAE =0 2ZAIEE XY 333,300 381,469 48,169
301 YerEAZ 333,300 381,469 48,169




X . 22 ZY . O HRAY - HAS rSIELELT N
o JlEEA 381,469 333,300 381,469
SABIZ TR FDIAAQY 0I2H]
(900, 0009+ 124+800, 00021 +8 2 )+ 122 87,600
KO KIME] = FDIZAIRQA 0I21H) 293,869
-CHOH RHRLOfl LA KT A1 1,632, 600 %3 % 122! 58,774
B4 X K21 0fl LA K| AIE 1,632, 6002155 2 122 97,956
SHECH KR Ol K1 E 1,632, 60024%52 122 97,956
R SRIOVEIV [EDNPRI= 1,632, 600 2% % 122 39,183
& = EAHAH| & AIE2e 204,500 204,500
203 HR=XY| 4,500 4,500
03 AlMFERYDRFAY| 4,500 4,500 4,500
HOISXHEIALL T2 =0I2tE5] 2 HDI2
2 HR=X
4,500
401 AlEH |2 20| 200,000 200,000
01 AlEH] 200,000 200,000 200,000
HOISHZIAIL =3 SAFY| 200,000
BRI MYD| A 2 30,000 40,000
401 Al&H|2 SHY| 30,000 40,000




RE .22 FHY . O - HRAY - BAS HACK SN e HRE
01 A& 40,000 30,000 40,000 10,000
BRI ME| )| AAIHEE TAF 40,000
YR KX 22 XY 500,000 500,000 0
03 XIXISHHI SAH20I® 500,000 500,000 0
01 XXISHHX 22X 500,000 500,000 500,000 0
SASATRA B ST STAIAH X 500,000
2 & L AWK HE K2 59 2,800 2,800 0
01 2LBr2H] 2,800 2,800 0
01 At=zel| 2,800 2,800 2,800 0
Y L KNAMUHKIME IS 5| &
AC}H
oo 70,0002%1024 *43] 2,800
(=) 16,852,916 19,968,096 3,115,180
IZ(HDISH2IALL XK RI|Z2) 16,852,916 7,968,0% 8,884,820
ERSNES 16,852,916 7.968,09 /8,884,820
602 Ol X2 16,852,916 7,968,0% 8,884,820
0 R 7,968,096 16,852,916 7,968,096 18,884,820
ORI AIE = Z=0IR 22 240,473
AZ AL FHZF0IXRD 507,686




XX L2 MM O - HRAY - BAS IR NEL! blnE2

(CHCH RHRU0H LA X S1ES 67,158
B X KH2 0l LA X SEd 256,816
BHESCHRHR LA KIS 183,712
HDISX2IA ML X KRS 7,219,967

LU= H2AX &(HD IS HRIA 2 E RN DI2) 0 2,000,000 2,000,000

WS ASKE 0 12,000,000 12,000,000

04 HES 0 12,000,000 2,000,000

01 oler=2 12,000, 000 0 12,000,000 12,000,000
seraeDIZ HE=2 12,000,000, 000 12,000, 000

A os g A 27,018,617 32,688,688 5,670,071




